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Sabse bada number jo ‘@’ or ‘b’ dono ko divide karde.

Meaning of Finding LCM (a, b, ¢)

)

Sabse chota number jo ‘@), ‘b, ‘c’ teeno se divide ho jaiye.
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#Q. Find the HCF an(i LCM df 90 and 144 by the |prime factorization

method. %*’:,) = D y; < W




QUESTION

#Q. Find the HCF and LCM |of 144, 180 and 192|by the prime factorization

method. \uu= 2% 'f‘xf
\%o= 2% ¥R
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QUESTION

#Q. Write the sn d by both 306 and 657.
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#Q. Find ¢

ne prime factorization

d

7575.

Also\ find the HCF of t

tﬂe LCM of the numbers 18180|ap: XN
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QUESTION Cﬁ : ,
#Q.| Iftw and b lare expressible form a = pq?
and b = p°q{p, q being prime numbers, t@:
2 b S
a= 4 = RS PCR(ab)= PXq
‘A pq =P = . "
LeN(@b)= PYy?
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10] L@r@)e twd distinct prime numbers|and p = x* y3, g = xy4, r = x° y2.
Find the HCF and LCM of p,gand r. .. ‘
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QUESTION

| o
andy =a’b

wheIJp a and b are prime numbersl then

LCM(x, y)] is equal to:

‘C) ab-a* bt N -

‘D) ab (1-ab)(1+ab)
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#Q. Ifa=22>@=22><3><5,c=22x3><7.and LCM (a, b, c) = 3780,

then x =
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QUESTION

#Q. Find thi HCF and LCM‘OJ 144, 180 and 192

method. (uu= 2% f‘xgc’
\Bo= 2% VX
a0 = 2% ' x L
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#Q. 1fa=22x35b=22x3x5[c=22x3x7/an
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#Q. | If the HCF of 85 and 153 | expressibJe in the form 85n - 153| then the

value of nlis \
LIRS A\ HCE = <\
D ° \ %+ ‘? 3 3\‘; \X = REN-\R
2 )
L/ \ |
RS2 22N
o, Seshaixd TS
\glz 11\1 \2\\*&6 \0 <= %S\(\
D 1
WCE= TxA'x g 12D =N

=
en® T



#Q.

The HCF|of

smallest prime number

and the smallest composite numbex{is:
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#Q.

The LCM lof th

b smallf
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44

2,

— !
V|
— y 4
[/
L &
-

.
e
N N
A
2 . X
4 - \
\ b
“J . —
)" \\\ % ~
o
=<




eV \oes

The least

number ttht is divisib,lj\

1l the numbers form 1 to 10|(both
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#Q. Ifpand qare twa Yyrime numbers, then their HCF is
AN 2
B O

C Either 1 or 2



#Q.

[f pandq 4&4& twy{

\numbers,
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then their LCM
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#Q. Lelt n be a natural number./Then, the LCM (n,n+ 1) is




10} LetLp be a prime number| The sum of its factors is:
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#Q.

48




Find the greatest number] which’ divides 85 and 72 leaving remainder 1

apectively.
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#Q.

Find the largest number wh1 h on dividing 1251, 9377 aneaves

remainders 1, 2 an@s
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#Q. Find tHe smallest number which increased by 17

botl¥520 and 468.
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#Q. If ‘p’and ‘q’ are natural numbers and ‘p’ is the multiple of ‘q’, then what is

the HCF of ‘p’ and ‘q’?

D Dp+q
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10} 4f ‘p’ and ‘q’ are natural numbers \and
the HCF of ‘p’ and ‘q’?

HPK

‘p’ is the multiple of ‘q

 then what is







% Relation b/w HCF and LCM for{two positive integjers

For any two positive integers a and b

HCF(a,b) x LCM(a,b)=axb {1\ 2,3\4 S
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#Q. Given that HCF(306, 657) =9,
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#Q. The LCM and HCF of two numbers are 180 and 6 respectively. If one of the

numbers is t}%:ogmmmben
LcM(a,b) = \Ro o b =6
hcF(ab) = 6
Q = }0 HCE XL = axb
b= 2 & R \Ro= WXO
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#Q.

Can two numbers have 16

QS thleir HCE

HCF=16 ’me‘q ac)ax -
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#Q. | If the LCM of two ers is 36OOJ th4n which of the following numbers

L cM=13600
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#Q. Assertion (A) l For two odd prime numbers'x and X\(x fy) LCM|(2x, 4y) = 4xy

.O)/.&Reason (R)L LCM(x, y) is a multiple of HCF(x, y).

A Both A and R are true and R is correct explanation of A. ‘ \ >

\Aoth A and R are true and R is NOT the correct explanation of A. ‘/ o 1 {
b odd A
PR P

292Ny ‘l“m’“’d‘\&
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\X& @ & LCN\= X&

C Aistrue, but Ris false.

D A is false, but R is true.
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#Q. Ifaand b arejrelatively prime numbers} then whlat is their HCF?
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#Q.

[faand b
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Are r|elatively prime numbers,

|then what is th@




#Q. | Two numbers are in the ratio 2 : 3 Ln¢ their LCM is 180 /what is the HCF

1
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#Q. Explainthr7><11x13+1Ban 7x6x5x4x3x2x aye
composite numbers. S | A SHAXNX2 A\
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#Q. Explainwhy 3 x5 x7 + %mposite number.




#Q.

Llet x and y two distinct prime numbers|and p = x?y}] q

xy4|r = x°y? Find

th

> HCF and CM

df p,qand r.
Further check if HCF (p, q,r) x LCM (p, q,r) =p x q x r or not.

LCM = A5y
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#Q. If the least prime factors of two positive integers a and b are 5 and 13

respectively, then the least prime factor of a + b, is

W
, . A
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#Q. Teaching Mathematics through activities is a powerful approach that enhances
student’s understanding and engagement. Keeping this a mind Ms. Mukta
planned a prime number game for class 5 students. She announces the number
2 in her class and asked the first sutdnet to multiply it by a prime number and
then pass it to second student. Second student also multiplied it by a prime
number and passed it to third student. In this way by multiplying to a prime
number, the last student got 173250.

Now, Mukta asked some questions as given below to the students:

(i) Whatis the least prime number used by students?
(ii) (a) How many students are in the class?
OR
(b) What is the highest prime number used by students?
(iii) Which prime number has been used maximum times?
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#Q. ne least prime factors of two positive integers a and b are 5 anc

respectively, then the least prime factor of a +.h, i;




CLEES . SR DR

|—Teach1ng Mathematics through activities is a powerful approach that enhances
_ﬂmmww‘gagﬂmmw this a mind Ms. Mukta

D anned prime number game for class 5 students| She announces the number
2lim her class and asked the first sutdnet to multiply it by a prime number|and
then pass it to second student| Second student also multiplied it by a prime
number and passed it to thipe et Id this way by multiplying to a prime
number, the last student go %\
Now, Mukta asked some questios=s given below to the students:

(i) Whatis the least prime number used by students?
(ii) (a) How many students are in the class?
OR
(b) What is the highest prime number used by students?
(iii) Which prime number has been used maximum times?
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#Q. If sum of two numbers is 1215 and their HCF is 81 the possible number of

pairs of such numbers are N«.\— ()05}

A 2
B 3
c 4
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#Q. Find the number of possible pairs of the product of two numbers and HCF
are 4500 and 15 respectively. N -@('\’ &055

S

A 1
B 2
C 3



#Q. The sum of two positive numbers is 240 and their HCF is 15. Find the

number of pairs of numbers satisfying the given condition.

Next doss
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Word Problems of HCF and LCM



Points to be Noted

»| Read the question carefully, very carefully.

j> Abh ye judge kro ki aapka answer given data se bada hai ya chota aayega.

Onoto. —=| Fodor — RCE
2odo, %Eﬂ.\'\\i\—% L\

» HCF of students, Students hi aayega.

QO awly @ A\

Qo q¥k.
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#Q. | There is a circular path around a sports field)|Priya takes 18 minutes to drive
one round of the field| while Ravish takes 12 minutes for the same.|Suppose

they both start at the same pointjand at the same timej 4nd go in the same
direction| After how many minutes will they meet again at the starting point?

s P=\8min
= 2 YA R=\2min

DSy
LU\’\@\\Q} - 7Y = [aGminales,




#Q. | Ina school there are two sections - section A and section B of classX. +here are

32 students in section A fand 36 students in section BJ Determine the
minimum number|of books required for their class library{ do that they can be

distributed equally among students of section A or section B.

A - 31\3\.‘ =15 2 RE

B 0 R=3%S 211 2\

e 32~ § 2| Q

K MR

D - 21 2 |
C 36 \

L// L= 28 %17 = Ry q-[2RR \ WS )o
NOTA
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#Q. | Three bells ring at intervals of 6, 12 and 18 minutes. if all the three bells

t 6 AM. wh 11l they ring togeth in?
rang at 6 AM. when will they ring together again
. \ M =36 n
A 6:18AM
6.06,G.\2, 61],6.2u 610l6\6
B 6:18PM 6-.\'2' quL G AGE

V/ 6 : 36AM

D 6:30 PM



#Q.

Four bells ring at an interval of 4, 7, 12 and 14 seconds espectivel}}. [f the four

bells begin to ring at 12 O'clock when will this next ring together{apd how

often will they do so in the next 14 minutes.

L M= 8Y Lecond2 \“““ 603"”"“
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6o 2 A 20
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v ¥ 208
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#Q. The traffic lights at three different road crossings change after every 48
seconds, 72 seconds and 108 seconds. If they change simultaneously at 7
a.m., at what time will they change together next?




#Q.

On a mornin walkJ three persons step off together|and their steps measure

40 cm,|42 cm|and 45 cm respectively. What is the minimum distanced gach

should walk|qo that each can cover the same distance and complete steps?

@/ NCERT Exampler




#Q.

(i)

(ii)

N4

A seminar is being conducted by an education orgainisationJ. \L/here the

_participants will be educators of different subjects.| Thie numbers of

participants in Hindi, English and Mathematics are 60, 84 and 108 kespectively.

H:65%

In each room tde same number of participants are to be seated and all of themfy = B\ P

being in the same subject, h¢nce the maximum number of participants that ca \ !
| j 00 | FF - 105\
be accomodated in each room is = \

A 14 B 12 c 16 D 18

The minimum number of rooms required during the event, is

B § ) 7 D 5
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110}

Three sets of Science, History and Drawing books have to be stacked in such a
way that all the books are stored topic wise and the height of each stack is the
same. The number of Science books is 192, the number of History books is

480 and the number of Drawing books is 672. Assuming that the books are of

the same thickness, determine the number of stacks of Science, History and
Drawing books.

HGol




#Q. A furit vendor has 990 apples and 945 organs. He packs them into basket.
Each basket contains only one of the two fruits but in equal number. Find the
number of fruits to be put in each basket in order to have minimum number of

basket. Board Term-I, 2016

Gy



#Q. The length, breadth and height of a room aré 8 m 50 ch 6 m 25 cmand 4 m
75 cm respectively. Find the length of the longes{ rod that can measure the

dimensions of the room exactly.

Board Term-I, 2016
SUCRS

A 20 cm
B 5cm
C 1 cm

D 2 cm
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Integers

Natural Numbers
{1,2,3,4,5,....0}

Whole Numbers
{0,1,2,3,... 0}

Irrational &
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@ Theorem

a rime numper ane a_positive integer.
Ifp d1v1des a%, then p divides a.

: X P
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#Q.| Prove that+/3 is an irrational number.
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#Q. Prove khat V2 is an irrational number.

X\ J=2 b»\m’n‘m\d&

=2 Qci\\)\'&ebce‘
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#Q. Given that|V2 fis krrationa', prove that (5 + 3 v/2) is an irrational number.

CBSE 2018
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#Q. Prove that 3 + 2V/5 is an irrational.

el
///




2+4/3 .

#Q. Prove that is an irrational number, given that v/3 iglan irrational number.

5 e
| cese20p”
Lk, 2437 B vk
=
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N\
#Q. Prove tth V2 ++/3[is irrational.

Ok 2x92 = sariare

NCERT Exemplar
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10} rekprime positive integers, prove that /p + +/q is an irrational number.
] \ @\g\j\L NCERT Exemplar
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[f sum of two numbers is 1215|and thejr HC elpossible number of

pairs of such numbers are
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#Q. Fincll the number of possible pairsl of the product of two numbers and HCF

are 4500 an@pectively.
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#Q. The sum ofwo positive numberd their HCFd the

if numbers satisfying the given condition.
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Theorem 1

Fundamental Theorem of Arithmetic:

the order in which the prime factors occur.
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Composite numbers = | Product of Primes QW’
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#Q. | Prove that

thére is no natural n
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#Q. Show that 12" cannot ends with digit 0 @r any natural number n.

Sol. Expressing 12 as the product of primes, we obtain

12=22x3 = 127= (22 x 3)" = (22)" x 3n = (2)2n x 3"

So, only primes in the factorization of 12" are 2 and 3 Iandl, n

Hence 12" cannot end with digit 0 or 5.
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#Q. Check whether#® can end with the digit 0 for any natural numb(@
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#Q. | Find the greatest numbex’ of 6 digit exalctly divisible by 24, 15 and-36.
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#Q. 1245 is a factor of the number p and q.
Which of the following will always has 1245 as a factor?

()p+q (ii) pxq (iii)p + q

e Gipl

CBSE Q.B. 2021-22

A  Only (ii)

W) and (ii)

C  Only (iii)

D All- (i), (ii) and (iii)



#Q.| Find the smallest number whiclh leaves remainders 8 amd 12 l/vhen

divided lgy 28 and 32 [respectively.
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ReAL NuMBeRs

TYPES OF NUMBERS PESCRT PTION
NATURA L Ne=- 4.2 3 &B..: .
N : o o
UMBERS Tt s the countma numbpers.
WHoLE W=0,1,23 4,5.. ., ..
NumBERS o o
Tt 18 -+the coonting nvmbexs + Z£RO
LINTEGERS Z=—4,-3,-9 -1,0,1, 2 .
P
OSITIVE Zy = il B, B, BB s 5
INTEGERS
NEGATLIVE
INT‘EG"‘EQS Z-‘ - “6'-5’.-4-3 -31—2g— L
RATIOMAL A numbes ,:l, called B{Qﬂ%ﬂﬂl :{E
NOMBERS Can be expsessed n +he {osm P{q
Iwhese  p L q axe fnwaets- (q#0)
EXAMPLE: t 3 -4::5— » B, s 4 L2C.
IrRATIONAL S
NUMBERS . A numbes 3 catled Csyational o &

cannot be expsessed (n the foxm
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8. ReaL 2 _—
NUMBERS All  sational £ all oxsattonal Nnumbess

maKes +the cotlecton o£ seal numbes:
T+ 1 denoted by the (ettes L.

g, HCF a,b)= 1
Then a and b axe co p-sf‘meg-

10.  FUNBAMENTAL THEOREM
OF ARITHMETIC Composite Nombey = Prodoct of faimes

11, HCF and L:CM b‘d
bnme :[Qctomgaﬁon H-CF = Pyodouct oi dmatlest  potlex GI each

Method . common {uc-tm: tn the nNUmbesS.
LCM = Psoduct cI’ the a-seqtegt potalex qi’
each p-ucme {actox (nvolved ¢n the nombey.

19 TMPORTANT

forMULA
MU HCF@,b) X L.CM (a,b) = axb




